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Part 1: Vocabulary (10 Questions) (20%, 2% for each question)

In this section, please select the most appreciate answers for the following questions.

1. Intoday’s world, many women enjoy dressing in outfit to declare a message that

there is no restriction of breaking the conventional dress code.
(A) sexist
(B) problematic
(C) masculine
(D) analogous
2. Steve Jobs was widely recognized as a world sensation with great ______. He himself and

his “Apple” have changed the way people connect and communicate with each other.
(A) bonuses

(B) creativity
(C) discovery
(D) events

3.  Melinda in socializing with strangers; therefore when she lunches her career as a

product consultant, she makes a fortune.
(A) tends
(B) represents
(C) exists
(D) specializes

4. Based on the latest study done by a group of scientists in Spain, meditation is proved to

______ patience and create a peaceful state of mind.
(A) cultivate
(B) overshadow
(C) tap
(D) trim



10.

Christopher was regarded as an ______ person while he was in college because he always
dressed in purple from head to toe every single day for four years.

(A) ancient

(B) eccentric

(C) ordinary

(D) elaborate

Throughout the twentieth century, science and medication has played an ______ role in
the progress of human civilization.

(A) indispensable

(B) impractical

(C) original

(D) internal

The agents at the Customer Service were ______ with complaints when the new product
was reported to have a major defect.

(A) unrelated

(B) swamped

(C) illustrated

(D) flared

Since you could not afford a new apartment in downtown, ______, you may consider
buying an old house in the suburban area.

(A) chronically

(B) primarily

(C) alternatively

(D) possibly

To swiftly mastering a skill, the most effective way for you is to repeat utilizing such
skill everyday until itis ____ in your mind.

(A) internationalized

(B) clenched

(C) declared

(D) internalized

Itis ___ that authorities concerned crack down on street violence.
(A) syntactic
(B) essential
(C) potential
(D) neutral
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Part 2: Grammar (10 Questions) (20%, 2% for each question)
In this section, please select the most appreciate answers for the following questions.

11. J. K. Rowling is recognized ______ a writer with great talent.
(A) by
(B) as
(C) in
(D) to

12. After the recent decease of the CEO, the company is now faced with an uncertain future
_____how it will operate and who will run it.
(A) in terms of
(B) in light of
(C) outof
(D) in that

13. Human beings tend to use body language when they communicate, they are aware

of it or not.
(A) needless to say
(B) therefore
(C) whether
(D) no matter

14. Itis worth _____ out that people rely on technology much more than before.
(A) appointing
(B) pointing
(C) to appoint
(D) point

15. Many people crave for being famous. Those ______ fame have to work hard, develop
their talents, and hope to build an audience or be discovered by someone big from the
entertaining industry.

(A) pursue

(B) who purposing
(C) in pursuit of
(D) pursued
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16.

17.

18.

19.

20.

There was once an “egg-tart fever” with many bakeries selling egg tarts. Yet, as time
went by, it ___ to be just a fad.

(A) turned down

(B) turned over

(C) turned up

(D) turned out

The shopping mall in downtown area plan to hold ______ campaign to attract a diversity
of customers of all ages.

(A) aseries of

(B) instead of

(C) because of

(D) in terms of

Nowadays, a kid with a video camera and Youtube has access to an audience that __
in the millions.

(A) numbering

(B) numbers

(C) number

(D) is numbered

Digital camera uses memory cards ______ films to store a large quantity of images.
(A) therefore
(B) instead
(C) other
(D) rather than

One may easily discover cultural differences when observing a classroom. When __
to express their opinions, Western students are always outspoken while Asian students
tend to remain silent throughout the class discussion.

(A) they ask

(B) asking

(C) toask

(D) asked

Part 3 : Reading Comprehension (10 Questions) (30%, 3% for each question)

In this session, please read the passages and choose the best answer to each question.

A placebo is an inert medical treatment that generally comes in the form of a sugar pill

but can also be any “dummy treatment” such as an injection of a saline solution, a special diet
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or exercise program, or “fake” surgery. Placebos were discovered in the 18" century and have
fascinated the medical world for their uncanny ability to heal. In fact, one third of the people
who take placebos for illness experience relief from their symptoms, a phenomenon known as
“the placebo effect.”

There are several theories that attempt to explain why the placebo effect works. One
idea is that a person’s expectations of certain improvements are powerful enough to bring
about the desired results. Others believe that the placebo effect is merely coincidence, as
many disorders treated with placebos are self-limiting, meaning that they will heal themselves
naturally over a certain period of time. Some theorists suggest that taking a placebo may
motivate people to take better care of themselves or reduce their fears and anxieties,
explaining any improvements they may experience. Another theory says that the act of taking
a placebo could also cause a patient to re-evaluate their symptoms as less severe.

Placebos have been known to cause certain side effects, including nausea, drowsiness,

and skin rashes. In some cases, doctors have seen their patients become dependent on

placebos, believing that they will fall ill as soon as they stop taking them. In other cases,

patients who are convinced that a treatment will produce undesirable consequences may come
to experience the feared symptoms. Thus phenomenon is called “the nocebo effect.” Healthy
individuals who are prescribed placebos over a long period of time can also become

convinced that they are indeed sick, triggering the onset of genuine symptomes.

21. According to the passage, what might placebo treatments be useful for?
(A) clinical trials for new drugs
(B) traditional Chinese medicine
(C) life-saving surgeries

(D) certifying exams for physicians

22. The word they in paragraph 2 refers to which of the following?
(A) disorders
(B) patients
(C) theorists
(D) placebos

23. The word dependent in paragraph 3 is closet in meaning to which of the following?
(A) complementary
(B) hooked
(C) subjected
(D) descriptive



24. Based on the information you are given, which of the following is a side effect induced by
placebos?
(A) skin rashes
(B) the nocebo effect
(C) nausea and drowsiness
(D) all the above

25. Which of the sentences below best expresses the essential information in the underlined
sentence in the passage?
(A) Doctors worry that patients could become obsessed with placebo treatments.
(B) Some patients start to feel terrible as soon as they quit believing in placebos.
(C) Most doctors say patients should continue to take placebos for their entire lives.

(D) Sometimes people think they will get sick if they stop taking a prescribed placebo.

For centuries, farmers have used a method called selective breeding to produce more
resilient crops. They do this by choosing seeds from plants that appear to be particularly
resistant to pests and cold or dry weather and planting those seeds in place of weaker strains.
Over time, the desirable strains come to dominate the genetic profiles of the farmers’ crops.

In the 1980s, scientists developed a shortcut to the time-intensive and unpredictable
selective breeding process. Using advanced laboratory equipment, they inserted genetic
material directly into plant seeds, leading to the immediate adoption of desirable
characteristics in the plants. These were the first GMOs. Additionally, the scientists
discovered they could transfer genes from non-plant species, such as bacteria, to food crops.

Farmers enjoy higher crop yields with GMOs because fewer plants are lost to pests,
cold spells, and droughts. Plants with pest-resistant genes also require fewer pesticide
treatments, leading to safer produce for consumers and reducing the threat of environmental
contamination. Moreover, many GMOs contain nutritious substances necessary to good health,
as everything from vitamins to pharmaceutical drugs can be implanted in crop seeds,
something that proponents of GMOs say could one day bring about the end of hunger in the
underdeveloped world.

Not everyone is supportive of the technology, however. Critics argue that GM foods are
simply too new to be embraced, alleging that long-term health risks could exist that have yet

to surface. They also doubt that GM foods could help end hunger, saying the seeds of these

plants are patent-protected and much too expensive for farmers in poor regions to afford.

26. The word this in paragraph 1 refers to
(A) control weather conditions
(B) organically harvest crops
(C) cultivate stronger plants
(D) invent new farming methods
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27. What is not indicated in the paragraph as something that could reduce a farmer’s crop
yield?
(A) alack of essential nutrients
(B) hostile weather conditions
(C) disease and insect problems

(D) an insufficient water supply

28. The word embraced in paragraph 4 is closest in meaning to which of the following?
(A) criticized
(B) adopted
(C) appreciated
(D) understood

29. Which of the following is not a declared benefit of using GMOs?
(A) nutritious substances are contained in crops
(B) plants are pest-resistant
(C) environmental contamination is reduced

(D) immediate relief of hunger in under-resourced regions.

30. Which of the sentences below best describe the essential information in the underlined
sentence in the above passage?
(A) Critics think GMOs cost too much to be used to stop world hunger
(B) GM foods are not available to agricultural workers in starving countries
(C) Poor farmers do not support the technology used to produce GM foods
(D) GMOs are ineffectual as plant seeds naturally try to preserve their DNA

Part 4 : Writing (30%)
In your opinion, what is the most important characteristic (for example, honesty,
intelligence, a sense of humor) that a person can have to be successful in life? Use specific

reasons and examples to explain your answer.
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